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Aim: To demonstrate the concept of String Matching algorithms.

Problem1: Rotate String

Description Discussion (7) Solutions (1.9K) Submissions

796. Rotate String

Easy
@& Companies

Given two strings s and goal, return true if and only if s can become goal after some number of
shiftson s.

A shift on s consists of moving the leftmost character of s to the rightmost position.

e For example, if s = "abcde" , then it will be "bcdea" after one shift.

Example 1:

Input: s = "abcde", goal = "cdeab"
Output: true

Example 2:

Input: s = "abcde", goal = "abced"
OQutput: false

Constraints:

e 1 <= s.length, goal.length <= 100

* s and goal consist of lowercase English letters.
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Code:-

class Solution {
public boolean rotateString(String s, String goal) {
String s1 = s.concat(s);
if(s1.contains(goal) && s.length()==goal.length()) return true;

return false;

Output:-

Testcase  Result

Runtime: 0 ms

Case 1 » Case 2

Input

S=

"abcde"

goal =

"cdeab"

Output

true

Expected

true
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Probem?2: Repeated String match

Description Discussion (9) Solutions (736) Submissions

& Companies

Given two strings a and b, return the minimum number of times you should repeat string a so that
string b is a substring of it. If it is impossible for b to be a substring of a after repeating it, return -1.

Notice: string "abc" repeated O times is "", repeated 1 time is "abc" and repeated 2 times is
"abcabc" .

Example 1:

Input: a = "abcd", b = "cdabcdab"

Qutput: 3

Explanation: We return 3 because by repeating a three times "abcdabcdabcd",
b is a substring of it.

Example 2:

Input: a = "a", b = "aa"
Output: 2

Constraints:

e 1 <= a.length, b.length <= 104

* a and b consist of lowercase English letters.
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Code:-
class Solution {
public int repeatedStringMatch(String a, String b) {

String copy ="";

int count=0;

while(copy.length()<b.length()){
copy+=a;
count++;

}

if(copy.indexOf(b)>=0)
return count;

if((copy+a).indexOf(b)>=0)
return ++count;

return -1;

Testcase  Result

Accepted Runtime: 0 ms

* Case 1 » Case 2

Input

""cdabcdab"

Output

3

Expected

3




